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With the stipulation that you return the paper to me; she is nw=»

OVERVIEW

The &n>72 taught that if a man gave his wife a ©3 and said to her, ‘here is your ©3
but the paper is mine’, she is not divorced; however, if he said to her, ‘here is your
v) with the stipulation that you return the paper to me’, she is divorced. n1vOIN
discusses why she is N1 if he said 7°°3;7 DX % *mnw A"y,

— NOYD NIV YNNI KUY NIV ORI VAP (x,ny 97 1mp) IWNANRY ) P99
In yrNw s» P99 the X2 asks, ‘what is the difference between the @9 (where
she is not w7 if he said *%w 7>31M) and the X239 (where she is nw 1 if he said »"v
717 DX VD IANY) -

— 2o AYyN) YA ININ MM TR 9272 AUPM) ININ 5N 'NIYDT DIVN AN NYH Y90
And one explanation there is because in the 8230 the stipulation (of 7 mnw n"y
917 PR °%) and the action (of giving the v3) are in the same thing (in the v),
which causes the sXin to be invalid and the 7wy (of w17%)) is effective —

mooin explains why it is considered TR 7272 AWYNI RIN:
— 917 WIYN MIIND INT N3N DY IMINT NIYIY NN 930p7

For that explanation maintains that (even) one who says 'ni» ®p', it is not

considered as if he said it should be effective retroactively as of now, but rather it

(the v3) becomes effective later when the °Xin is fulfilled -
—3n52 V)" PRY YNNI 9WAN X XY 1NPINNY 1Y DIND D192 V) PN

So the vx cannot become effective until she returns it to him (which is the o1p
Xin7), and then (after she returns it to him) it is impossible for her to be

" However in the X1 where he said *5w 71, she is not NWAw since he never gave her a v3, only Mn715 N1PMIX.
% The laws of °Xin - stipulations (conditions) - are derived from the *Xin that 11°27 7w» made with the 72187 °121 72 °12
(see 9-3 ,2% [mun] 127m3). We derive that if the *Xin is made similar to the *Xin of 1"212 then if the *Xin is not
fulfilled the transaction is not effective; however if the °Xin is not similar to the *Xin of 7"212 then even if the *Rin is
not fulfilled the transaction is valid (the *Xin is meaningless). Two of the qualifications for a proper *Xin are 7272 °Xin
IR 1272 AWy R (the "Xin and the Twyn are in two different areas); the *Xin was to cross the 777" to wage war and
the nwyn was the inheritance of a7 177°7 12¥. However if the 7wym1 °Rin are 71X 7272 it is not a valid *Rin (see
following footnote # 3). The other qualification is that it must be nwyn? o7p *Xin; first the stipulation must be said
and only afterwards can the transaction be declared. 7w first said 121 172y° oX and only afterwards "1 nR 072 annn
71INRY. There are two more qualification (which are not relevant here) 7195 °Rin and W27 a7Ip 177
? The explanation of TAX 1272 AwWYM *Xin is that the *Xin and the Awyn contradict each other, in which case we say
»p awvynm 5032 Ranm.
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divorced, since the 3 is not in her possession® -
— VI ININN NOVY 29 DY 9N 79990

Therefore (since it is a case of 71X 1272 7WYN) °XiN) even if she did not return the

V) she is NW=AM since by a X 7272 AWwYM *Xin the rule is that the XN is 2 (we ignore it)
and the 7wyn is 0»p.

NvOIN mentions a related issue:
— 9 YINNY N3 DY N3NNI DT NINN 7950 (3,91 PYITIPT RNDP P93 9INPT N9

And X219 who ruled in the first P95 of w792 nNdon, if one said to his friend, ‘here

is this 310X as a gift n1» v that you return it to me’, the rule is -
—NIWIY NINND 920 NY 119 NYP 19911

If he returned it he fulfilled the mx» of MNKR N0, ete. We must say that 823

there does not agree with that explanation mentioned above -
— 5NINY DN NUYN HNT DIVN RNNY 3 DI92 YIINT NMNIYVY N2 NN

But rather X231 in 7PU17°P follows his reasoning which he explains in >» P99

rRw, because the mwyn preceded the Rin, therefore the *Xin is Yva and the mwyn is
7
o»p -

mooIN anticipates the obvious question:
— Snanb NP NYYN 93 NINRT NXNNAT 2) DY 9N)

And even though in that case of 3170, the wyn» also precedes the SXin (so why is
it necessary that he return the 217nK; it should be 2»p 7wym Hv1 *Xin) —

mooIn replies:
— PNINNY TISY 135 NINN VPINIT NINDNA XA PT NY

NX29 was not precise in his statement to mention the Xin properly as you are
required to stipulate it; namely the >Xin before the Awyn (and it that case he will be X3,

* If we would maintain however that *»7 YWw3yn KD 2"y TR 57, then it would not be 71X 1272 WYM XN, since
when she returns the v3 she is ¥7191% nwa from when he initially gave her the v3. The *Xin does not contradict the
awyn.
> X217 cannot maintain that by v the 2»p 7wym Sva *Xin since it is considered a 71X 7272 AwWYM *Xin, for then by the
MINR it is also a TR 7272 WM *Rin and the ruling should be that 0»p 7wy Y02 *Rin, and he should be R even if
he did not return the M7NX, as the rule is by va that she is Nw7 even if she did not return the 771. [We must assume
that X217 does not agree that this is considered a X"72 7wym *Rin, since X271 maintains M7 PWIYA MR 2"V MINT 2D
(see footnote # 4 & 9).]
® He first said T03 "7 (the Awyn) and then 7°°37 R % »mnw »"v (the °Xin), in which case X271 maintains that the
°Rin is 702 and the nwyn is 0»p. The way a *Xin is effective is only if it precedes the nwyn. He would need to say; if
you will return the 771 to me (the *Xin), the 3 will be effective (the wyn). See footnote # 2.
7 She is nw M even if she did not return the 7.
8 He said 270X 7977 (the 7wy first) *> 3nw »"y (the *xin later).
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(only) when he returns the 11121&).9

mooIn concludes and differentiates:
29997 VYN 99IND NI TY MIND YT DIVN 1,1y npy) ITHNY 2932 W97 NIYIY NINNY)

However, according to that interpretation in nXw » P95 which explains the
ruling why it is w2 because whoever says »'"v it is as if he said that it should be
effective as of now —

ey NaW NYWN VI NN INY ININD BHPMY 9HDAY 1NN 19 OX NIN VI 97 NY
It will not be a v unless she eventually returns the 71 at which point the >Xin
was fulfilled and it is a v from the time it came into her possession.

SUMMARY

NWAINA 937 DR 07 mnw »"'v uea 1" can be understood in one of three ways;
either it is a 77X 1272 7wym Rin (if we assume that “»7 PWIYH MR IR? 2"V MR
or because it is a *Rin%? o7p awyn. It will be a vi in either of these two explanations
even if she does not return the v since 0*p mwvM Hv2 °Xin. Alternately she is
nw7n if we assume 17 1W2IYn IR 0"y, but only if she returns the 3.

THINKING IT OVER

Is it possible according to X271 (who maintains "7 1wavn IR 2"V IMRA 92) that
there should be a case of 71X 7272 7wym °Xin (that the °Xin should contradict the
Twyn) since the Wy is ¥y191? 5n?

? X217 maintains "7 YWY IR 2"y KT 22 and since MDD is interpreting now that he said first the *Xin and then
the 7wyn; therefore the *Xin is a”p, and since M7 PWIVA MR 1"y XA 92, therefore if he returned the 370X he is
PWOYA KX (80 it is not a TR 7272 AWYM °KiN), but if he did not return the 270X he is not XX because he did not
fulfill the “Xin.
' Perhaps it should read 2,7v.
' The reason X27 interprets it because of 7wyn? D7p Xan rather than *»7 PYWayn KD 2"y KA 95 (even though X217
agrees that >n7 PwWoyn MIRD 1"y MR 95 [see footnote # 9]), is because from the Xn»127 NWY it seems that if he said
DWW 11977 9737 DR 2 W 2"y that she is nwan even if she does not return the 7°°1. Therefore X327 chooses to
interpret it on account that it is lacking the 7wyn2 077 *Rin which invalidates the *Xin completely; however according
to the reason of 1wayn XD it would be necessary to return the ™1 (see 1°v°x n7n). Alternately X217 wanted to
establish that X012 even according to the 1327 (of *27) who maintain "7 Pwayn IR R 2"y M 95 (see 2"In).
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